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Do as directed for giving or selecting a correct answer (Any five)

HLOAL YHIQL ALA etlod AW AUl [Aseu e 530 (AL A wi )

WeSoeral GUAIHL Al UdEl A 8ld 33 ®.

Prior to using a pointer variable it should be .

a) Declared b) Initialized ¢) (a) and (b) both d) None of Given

wAeHiell §3 RSUR HIE ALY otll. / Which of the following cannot be a structure member?

a) Another structure  b) Function c¢) Array d) None of the mentioned

R 5AU HIS 58 d2lelef U OUEL B. / What are the types of data allowed inside a structure?

a) int, float, double, long double b) char, enum, union
¢) pointers and Same structure type members d) All the above

C Ml R5AURa user defined S2l2lBU sdclad B. (RAUY /W)

A C structure is also called a User defined datatype. (True/False).
o{lAnel 520 AU 2R WsARAL N Anclall Al D.

Which of the following is used to access member of a structure.
a). b) >  c¢)(a) and (b) both d) None of the above

o{lAmell 58 ol AR 1R ARl B? / Which of the following is true for the Array ?

a)int a(4) = {1, 2, 3, 4}; b)inta[3]= {1, 2, 3, 4};
c)inta=new {1, 2, 3,4}; d) inta[4] = {1, 2, 3, 4};
Explain in brief. / 35Hl &cllol UL, (Any Two/olR A &)

W2 e{l GUA(cll AH A / Explain about use of pointer.
o URHIGM2 A6 GuNL 531 (Qen Aot ot 2i0)6 sRell HRofl Fct AMA

To store information of the student use the multidimensional array.
Linear data structure AH2cll. / Explain Linear Data Structure.

Explain in details./ Qcll? Yds cllol Ul (A A A s)
Wo2 el HEE Y 25U ANRell €35 N1oRal Aclall HIZoll YoUH AWl

Write a program to access member of structure of an array using pointer.
(Qewell Hu2elt sAUL ( oltH, oled, WRERUH) 3A D dotl UL 32l ollHoll ABAL SHHI

a0&ctelloll YU H UL

(©))

“)

(6)

Write a program to sort student data on base of their name . A student structure is having ( no, Name,

Result) members.
Do as directed for giving or selecting a correct answer (Any five)

HLORAL YHIGL ALA selted AW AUl [Aseu ude 52A. (LA A Ul
RsULAsH ARl Ul £ scllal YRR séalld.

Process of inserting an element in stack is called and removing an element is called
Auto variable QA AL WAUHHIL Yivcd U8 4F o8l (U3 /vlE)

Auto variable is accessible in entire program. (True/False).
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WAA Wre(3et Aot 632 5+ — * ofl (Fuct 0L

What is the value of the postfix expression 6 3 2 5 +— *?.
a)0 b) 40 c) -24 d) None of the mentioned

local AZAGA A §50l ofl cARA BHA A AW B. (U /).

A local variable keeps information between the functions. (True/False).

WA 83t @l&q%ldﬁj We(3et AWl / Postfix equivalent of the expression (a +b) * (c—d)

a) ab+tcd-*  b)abt*cd-  c¢)ab+cd*- d)None of the mentioned

WA WRe(det AeYalol 35 % 6 + 2 3 % - of YA ARAL

Evaluate the postfix expression 3 5 * 6 + 2 3 * -

a)0 b) 15 c) 39 d) None of the mentioned

Explain in brief. / 35Mi %cllel UL AN A &) @
Wzl Heeell string Bos(Aat (A umenAl. / Explain String handling using pointer.

infix &l postfix 3ULRBL (Conversion) AH3LC. / Explain Infix to postfix conversion.

AR A Weho2? BELEL LA AU / Explain array of pointer using example.

Explain in details./ (QcllR Yds cllot 2L, QIR A As) (6)
RsH A5 AANee GRRellell YAUH AL / Write a program to add ana element in the stack.

Infix to postfix conversion with two operators ol YoULH AVl

Write a program to convert two operators infix notation into postfix notation.

Do as directed for giving or selecting a correct answer (Any five) S
HLORAL YHIGL ALA selled AW AUl [Aseu ude 52A. (LA A Ul

Integer W&oz ARGl UESR3 1 cllefe Sl B. (UY/VR).

Size of the integer pointer is one byte only. (True/False)
ol soll BER “A”, “B”, “C” and “D” AUUUH & A olslR ollscicllall s1 &

If the elements “A”, “B”, “C” and “D” are placed in a queue then would be order of deleting
element in a queue.
a) DCBA b) ADBC ¢) ABCD d) CDBA

AR ololRs M2ell Aot A 59 of GELERWQL B.

Queue of a senior citizen is an example of queue.
AR SYHL ‘rear’ Max — 1 UR USA Al _ séal.

When in a simple queue ‘rear’ is reached Max — 1 is called .
Circular Queue | 33 ueL vl . / Circular Queue is also known as

a) Ring buffer b) Square buffer c¢) Rectangle Buffer d) None of given

queue R AUURAD. / A queue follows

a) LIFO principle b) FIFO principle c) Linear tree d) Ordered array

o{lAell UE BELSAL UM ALl (Any two/ALR A Q) C))
Queue BRN €<81-U. AHestal. / Explain about Queue

sl s AHI AAFAototl $lAEL UM/ Explain advantages of Dynamic memory allocation.

Process queue Al / Explain about Process queue.

Explain in details. / (@Qcll? Yds cllol UL (Any one/olA A A ) (6)
Kﬂ’-ﬂgﬂ A@AN2 &2 5l H2oll YIUM AW, / Write a program to remove element from the queue.
YA syl AARe2 GRARAl HZell VUM AWl

Write a program to add element into priority queue.
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a4, () Do as directed for giving or selecting a correct flnswer. (Any ﬁve)‘ Q)]
HLORAL YHIGL ALA selted AW AUl [Aseu ude sA. (A A i)

(D) stack UR AR 8.

a) LIFO principle b) FIFO principle c) Linear tree d) Ordered array
(2) A term push | pop H2 duRA .

a) Array b) Lists c) Stacks d) Tree
(3) ol stacki TOP = NULL &lal dl A@Ac2 £ sl wQ

a) underflow b) overflow ¢) Error d) None of given

@ oAl 82:1 W 5UR non-linear 0.
a) stack b) queue c) tree d) matrix
(5) 2 way Merge sort Wt 35Ul B, (UYAE)
(6)  bubble sort oll time complexity O(n2) 8. (AU YME)
Ysl-4. (W) Explain the following term with an example. / o{lQoll UE GELERQ UMM A, (Any Two/ AN A ) ()
(1) sorting ol $LAEL AH LA
(2)  Insertion sort UL
(3)  priority queue AH
Usl-4. (5) Explain in details./ QR Yds cllol AW, (Any one /LR A As) (6)
(1) Bubble Sort implementation (2ol YLUM AW
(2)  Merge sort implementation Hl&ell YLOUH AU,
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